m LAUIIE(ER)
(Eh9l - BIHMIEE)
_ M = 4l LS HI 3 all
= 3 1 3 = = = o
= = - = o] B = ST N = v/ = L
E 4 B & ) D250mmiZl4 38,500 38,500
E o 3 g ¢ 10ton hr | 0.23 16,748 | 16,228 3,732 | 36,713 8,444 | 19,877 | 4,572
i & I (%) el | o015 27,352 — | 182,347 | 27,352 -
2 s ¢ 7 el | 0.06 8,297 - 188,290 = 8,297 -
sTEME QAHE % 1 356 356
Al & H A = 52,754 4,089 44,093 4,572
_ = 91,254
&t A INYN B L=
m 36,502
~ M & i L3 ]l & I
= & = = o E 9
S 2 WU e BN HI | 2A
E o (B 8 ) D300mmiZl4 49,100 49,100
E & 3 & ¢ |[10ton hr @ 0.26 18,033 | 16,228 | 4,219 | 36,713 = 9,545 | 19,877 5,168
i 2 I (%) ol | 017 30,999 - | 182,347 | 30,999 -
2 s <o £ el o007 9,680 - | 188,200 | 9,680 -
ST E QAHE % 1 407 407
Al Z H A = 60,019 4,626 50,225 5,168
_ = 109,119
gt A AA +A| S
m 43,648
_ M = 4l LS HI 3 all
= = 1 3 = = = o
= = - = o] B = ST B = v/ = L
E &% (B & ) D350mmAZ4 50,500 50,500
E o 3 g ¢ 10ton hr | 0.30 21,845 16,228 4,868 | 36,713 | 11,014 | 19,877 5,963
i 2 (%) el | o019 34,646 — | 182,347 | 34,646 -
2 & 9o 7 ol | 0.08 11,063 — | 138,290 11,063 -
ST E UHE % 1 457 457
Al & H A = 68,012 5,325 56,723 5,963
_ = 118,512
&t A A +A| S
m 47,405
~ M & i L & b & I
= & = = o E 9
S 2 WU e BN G| 2A
E % B g ) DA00OmmAZA 50,270 50,270
E & 3 &8 ¢ 10ton hr | 0.33 24,030 | 16,228 | 5,355 | 36,713 | 12,115 | 19,877 6,559
i 2 I (%) ol | 022 40,116 - | 182,347 | 40,116 -
2 & o &7 ol | 0.09 12,446 — 138,290 | 12,446 -
STE&ENME AHE % 1 526 526
Al Z H A = 77,118 5,881 64,678 6,559
. = 127,388
3 A A +Al S
m 50,955




~ M 2 Hi T 2 4l & ]l
= & 7 = o° = £S5 of
@I 2 H | ¢ 2 H  =I=3A
E & B & ) |DASOmmAZUA 56,700 56,700
E & 3 &8 ¢ 10ton hr | 0.37 26,943 16,228 | 6,004 | 36,713 | 13,584 | 19,877 @ 7,354
o 3(FE) ol | 025 45,587 — | 182,347 | 45,587 -
2 & 2 7 el | o.10 13,829 - | 188,290 @ 13,829 -
TEHEME CAHE % 1 594 594
3 H A = 86,953 6,599 73,000 7,354
= 143,653
A A +Al S
m 57,461
_ M = dl L 2 4l 3 ]l
= = 7+ 3= o 2 s 9
@I 2 | ¢ 2 H &I 2A
2 B & ) D500mmAZ4 71,980 71,980
= 3 & e 10ton hr | 0.40 29,127 | 16,228 6,491 | 36,713 14,685 19,877 | 7,951
o 3(rE) el | o028 51,057 — | 182,347 | 51,057 -
s o 7 ol | 012 16,595 — | 138,200 | 16,595 -
TFTEEME AHE % 1 677 677
3 H A = 97,456 7,168 82,337 7,951
= 169,436
Al KA +A S
m 67,774
~ M 2 Hi T 2 4l & ]|
= & 7 = o° = £S5 of
B3| 3| e Y| S| 3A
E & B & ) |D600OmmA-ZUA] 95,120 95,120
E & 3 &8 ¢ 10ton hr | 0.47 34,224 16,228 | 7,627 | 36,713 | 17,255 | 19,877 = 9,342
i 2 I (%) ol | 037 67,468 - | 182,347 | 67,468 -
2 £ o = ol | 0.15 20,744 — | 138,290 = 20,744 -
TEFEgME AHE % 1 882 882
[ 3 H A = 123,318 8,509 105,467 9,342
. . = 218,438
gt A AA +A| S
m 87,375
_ M = dl L 2 4l 3 ]l
= = 7 = o 2 g 9
@I 2 | ¢ 2 H &I 2d
2 (B 8 ) D700mmAZ4 134,200 134,200
= 3 8 ¢ 10ton hr | 0.53 38,594 16,228 8,601 | 36,713 | 19,458 19,877 @ 10,535
o 3 (FE) el | o049 89,350 — | 182,347 @ 89,350 -
s o % 2l | 0.20 27,658 — | 188,290 27,658 -
TETAME |QAHE % 1 1,170 1,170
3 H A = 156,772 9,771 136,466 10,535
= 290,972
Al KA +A S
m 116,389




278,694

~ M & i &4
7 2 e g o
2 A =
& D800mn 27 4| 157,950 157,950
E 10ton 43,691 | 16,228 9,737
118,526 -
=) 35,955 -
ol E 1,545 1,545
199,717 11,282
357,667
AR +A| 2
143,067
B M & i 3
1 3 = o
©@ J | 2 o =
D900mmAZ{ 4 219,700 219,700
15ton 57,389 17,331 | 11,612
154,995 -
47,019 -
ol = 2,020 2,020
= 261,423 13,632
= 481,123
Xxf+A| S
m 192,449
~ M & i &4
= = < E 9
2 A =
D1000mmAZ 4| 273,410 273,410
15ton 63,385 | 17,331 | 12,825
206,052 -
62,231 -
AHE 2,683 2,683
334,350 15,508
607,760
AR +A| 2
243,104
B M & i 3
1 3 = O
©@ JF | 2 =
D1100mm=70 4 318,000 318,000
15ton 68,524 | 17,331 | 13,865
235,228 -
71,911 -
ol = 3,071 3,071
= 378,734 16,936
= 696,734
Axf+A| S
m




m LAUIIE(ER)
M 2 Hi L & b & ]l
= 3 7 = o° = E 9
B 2 | Y B 2
E % (B 8 ) DI200mmiZ4 383,390 383,390
E & 3 &8 ¢ 15ton hr | 0.87 74,520 17,331 | 15,078 | 42,267 | 36,772 | 26,057 22,670
i 2 I (%) ol | 1.48 269,874 — | 182,347 | 269,874 -
2 E 9o = ol | 0.60 82,974 — | 138,290 = 82,974 -
ST E |HE % 1 3,528 3,528
Al FZ H A = 430,896 18,606 389,620 22,670
. = 814,286
et A AA +A| S
m 325,714
M = dl L 2 4l 3 i
= 3 7+ 3= o 2 = o
AR - EEE
E 2 B & ) |D1350mm2Zl4] 457,640 457,640
E & 3 2 ¢ |[15ton hr | 0.98 83,042 | 17,331 | 16,984 | 42,267 | 41,422 | 26,057 | 25,536
i 2 S (Fx) el | 1.66 302,696 — | 182,347 | 302,696 -
H E o = ol | 067 92,654 — | 183,290 @ 92,654 -
ST E UHE % 1 3,954 3,954
Al & H A = 483,246 20,938 436,772 25,536
. = 940,886
gt A Xxf+A| S
m 376,354
M 2 Hi L 2 b & ]|
= £ 7 = o° = E 9
®H 2 e | Y B 2
E % (B 8 ) DI500mmiZl4 575,380 575,380
E o 3 g ¢ 15ton hr | 1.08 92,507 17,331 | 18,717 | 42,267 | 45,648 @ 26,057 28,142
i 2 I (%) ol | 1.98 361,047 — | 182,347 | 361,047 -
2 &8 2 =7 ol | 080 110,632 — 138,290 | 110,632 -
ST E QAHE % 1 4,717 4,717
Al EZ H A = 568,903 23,434 517,327 28,142
_ = 1,144,283
2 Al KHIH+ Al 2
m 457,713
M = dl L 2 4l 3 i
= =3 7 = o 2 = O
®o 3 W 2 F A = 2
E 4 B 8 ) D1650mmaZ4 - -
E 2 3 g o 15ton hr | 1.18 101,073 | 17,331 | 20,451 | 42,267 49,875 | 26,057 @ 30,747
o 2 2(FE) ol | 222 404,810 — | 182,347 | 404,810 -
H 5 9o # ol | 0.89 123,078 — | 138,290 | 123,078 -
ST E UHE % 1 5,279 5,279
Al & H A ) 634,240 25,729 577,764 30,747
= = 634,240
gt A Axf+A| S
m 253,696
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